Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - IV « EXAMINATION - SUMMER 2015

Subject Code: 3342905 Date: 09/12/2015
Subject Name: Statistical Quality Control
Time: 02:30 PM TO 5:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol U,
List the S.1. unit of fibre length.

SLBAUR Aol oll S.I. Yolle AWl

State formula of combined standard deviation.
5101801 R1e5S dclAaol of Sl vl
Define mean.

He2ls ofl catvaul wl.

Define median.

Hr2lRe of| catvall w.

Define mode.

wges ofl cautvaul w0

State what is correlation?

usolY ofl catval W,

State different types of correlation.

AU oll YslR el

State the limit of C-chart.

C-chart ol {ldle cull.

State the limit of R-chart.

R-chart o{l cll{le cull.

Define standard deviation.

YHRlld dluctet ofl catvall cul.
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Q.2 State different types of frequency distribution.
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OR
State different methods of graphical representation.

AlEsc gl ofl (AU ugld Ul
State the importance of S.Q.C. in textile.
el YRAY HI S.Q.C.o] 9 Herdl B A Al

OR
State different measures of central tendency.
Aoz 2oSol ol [A[AL HIW R
Calculate mean from the following data:
X:58, 67, 65, 35, 45, 55, 80, 60, 50, 45
ol Aol Sat wRYl utas .
X:58, 67, 65, 35, 45, 55, 80, 60, 50, 45
OR
Calculate mean from the following data:
X0 1 2 3 4 5 6
Y:9 12 22 30 18 6 3
ol Aol Sat wRYl utas .

X0 1 2 3 4 5 6

Y:9 12 22 30 18 6 3

The textile company having production in metric tons of last 10 years us
under. From that find the average production of the company.

X:530, 570, 605, 620, 525, 600, 550, 550, 600, 550

As eeled susll of Bccll 10 ay of WssAat o{lA Yxu & A Aol

YRYL AR UlssAal L.

X:530, 570, 605, 620, 525, 600, 550, 550, 600, 550
OR

Calculate mean from the following data:

X5 6 7 8 9 10 11 12

F:10 11 15 14 13 16 11 10

LAl 32t uRYUl Hraus Ml

X5 6 7 8 9 10 11 12
F:10 11 15 14 13 16 11 10

Seven threads were tested for strength and the results were found as under.
Strength in grams: 152, 180, 175, 160, 150, 172, 170 what is the median.

HHOALES HIR Al S of 2201 SRAML wlR] Wal doj e ol
YHIQ 8. Strength in grams: 152, 180, 175, 160, 150, 172, 170 l dall
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Find the median from the following results.
Results:150, 180, 175, 160, 152, 172, 170, 181

ol Aetl WlouH vl Hearel KA.

Results:150, 180, 175, 160, 152, 172, 170, 181

Calculate median from the following data:

Class: 150-160, 160-170, 170-180, 180-190, 190-200, 200-210
F: 5 20 30 18 15 12

o{lAstl 32t uRel Hraure L.

Class: 150-160, 160-170, 170-180, 180-190, 190-200, 200-210
F: 5 20 30 18 15 12
OR
Calculate mode from the following data:
Class: 0-10, 10-20, 20-30, 30-40, 40-50, 50-60
F: 5 19 30 21 15 12

o(lAott 32t uRell vgets e,

Class: 0-10, 10-20, 20-30, 30-40, 40-50, 50-60
F: 5 19 30 21 15 12

Calculate mode from the following data:

Class: 10-19, 20-29, 30-39, 40-49, 50-59, 60-69
F: 5 12 20 8 5 5

o(lAott 32t uRell vgets e,

Class: 10-19, 20-29, 30-39, 40-49, 50-59, 60-69
F: 5 12 20 8 5 5

OR
Calculate mode from the following data:
Height:40-44, 44-48, 48-52, 52-56, 56-60, 60-64
No of students: 8 16 18 20 10 10
o(lAott 32t uRel vgets .

Height:40-44, 44-48, 48-52, 52-56, 56-60, 60-64
No of students: 8 16 18 20 10 10

Calculate Q1 and Q3 from the following data:
Value(x): 2, 3, 4, 5, 7, 9, 10, 12, 15

F:5, 7, 8, 10, 15,10,8, 8, 8
o{lAetl S2t Ul Q1 A Q3 WKL
Value(x): 2, 3, 4, 5, 7, 9, 10, 12, 15

F:.5, 7, 8, 10, 15,10, 8, 8, 8

OR

Calculate mean deviation from the following data:
Observations(x): 27, 22, 24, 29, 31, 21, 33, 20, 32, 31
o{lAell 32l Wl AR [Quctst KA.

Observations(x): 27, 22, 24, 29, 31, 21, 33, 20, 32, 31
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Calculate standard deviation and c.v. from the following data:
Height in inches(x): 65, 72, 59, 46, 52, 55, 62, 65, 70, 64

o{lAstl 32t URYl yHRlld [Qudst 1 c.v. .

Height in inches(x): 65, 72, 59, 46, 52, 55, 62, 65, 70, 64

OR
If mean is 15 and variance is 6 of binomial distribution then find out the
value of n, pandq.

(Guel QRul Hi % Htels AU A [AjAs § 82l Al n, p el g oll
(Suc 20w

Calculate co-efficient of co-relation from the following data:
X: 50, 55, 65, 60, 50
Y: 13, 14, 16, 14, 13

oAl Ml el Asucitts ol sl 52
X: 50, 55, 65, 60, 50

Y: 13, 14, 16, 14, 13

Explain T-test with suitable example.

Ao GELERBL U T-test Ul

Explain F-test with suitable example.
Ao GELERBL A F-test AH»LAl.
Explain binomial distribution.

(Bugl [AdRel &5 Ml AHsAL
Explain normal distribution.

AHLA (A0l &5 Hi uMestal.
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